



---

## A COMMON FIXED POINT THEOREM FOR FOUR SELF MAPPINGS IN FUZZY METRIC SPACE

Vikash Kumar  
Research Scholar  
Department of Mathematics  
Sri Satya Sai University of Technology & Medical Sciences, M.P.

### ABSTRACT

The purpose of this paper is to establish a common fixed point theorems in fuzzy metric space using the concept of weak compatible mappings for four self-mapping and generalizing the result of Sharma et. al.[8]. We also cite an example in support of ourresult.

**Keywords:** Common fixed point, Fuzzy metric space, R-weakly commuting maps, compatible mappings, weak compatible mappings.

**AMS (2000) Subject Classification:** 54H25, 47H10.

### INTRODUCTION

The concept of fuzzy set was introduced by Zadeh (1965) [12] as a new way to represent vagueness in everyday life. A large number of renowned Mathematicians worked with fuzzy sets in different branches of Mathematics. One such is the Fuzzy Metric Space. In this paper we use the concept of fuzzy metric space introduced by Kramosil and Michalek [4] and modified by George and Veeramani [1] with the help of t-norm. Grabiec [5] obtained the fuzzy version of Banach contraction principle, which is a milestone in developing fixed point theory in fuzzy metric space. In the sequel, Vasuki [7] introduced the concept of R-weakly commuting in fuzzy metric space and proved the common fixed point theorem. The concept of compatibility was generalized by Jungck [3] .The concept of compatibility in fuzzy metric space was proposed by Mishra *et. al.*, [6]. In 1996 Jungck again generalized the notion of compatible mapping by introducing weak mapping [2]. In 2005, Singh and Jain [10] introduced the concept of semi-compatible mappings and proved the common fixed point theorem for four self-mapping in fuzzy metric space. That was generalization of Vasuki[7].

In 2012, Sharma *et. al.*, [8] also generalized the result for three commuting mappings instead of two mapping, given by Vasuki [7].

In this paper we generalize the result for four weak compatible mappings instead of three mapping, given by Sharma *et. al.*, [8]. Our result is also a generalization of Singh and Jain [10].

## 1. PRELIMINARIES

**Definition 2.1.** [12] Let  $X$  be any set. A fuzzy set  $A$  in  $X$  is a function with domain in  $X$  and values in  $[0, 1]$ .

**Definition 2.2.** [6] Binary operation  $*$ :  $[0, 1] \times [0, 1] \rightarrow [0, 1]$  is called a continuous t-norm if it satisfies the following conditions:

- (i)  $*$  is associative and commutative,
- (ii)  $*$  is continuous,
- (iii)  $a * 1 = a$ , for all  $a \in [0, 1]$ ,
- (iv)  $a * b \leq c * d$ , whenever  $a \leq c$  and  $b \leq d$  for all  $a, b, c, d \in [0, 1]$ .

Examples of t-norms are

$a * b = \min \{a, b\}$  (minimum

t-norm),  $a * b = ab$  (product-

norm).

**Definition 2.3.** [1] The 3-tuple  $(X, M, *)$  is called a fuzzy metric space if  $X$  is an arbitrary set,  $*$  is a continuous t-norm and  $M$  is a fuzzy set on  $X^2 \times (0, \infty)$  satisfying the following conditions:

(FM-1)  $M(x, y, t) > 0$ ,

(FM-2)  $M(x, y, t) = 1$  if and only

if  $x = y$ , (FM-3)  $M(x, y, t) =$

$M(y, x, t)$ ,

(FM-4)  $M(x, y, t) * M(y, z, s) \leq M(x, z, t + s)$ ,

(FM-5)  $M(x, y, \cdot) : (0, \infty) \rightarrow [0, 1]$  is continuous,

for all  $x, y, z \in X$  and  $t, s > 0$ .

Let  $(X, d)$  be a metric space and let  $a * b = ab$  or  $a * b = \min \{a, b\}$  for all  $a, b \in [0, 1]$ .

$$M(x, y, t) = \frac{t}{t + d(x, y)} \text{ for all } x, y \in X \text{ and } t > 0.$$

Then  $(X, M, *)$  is a fuzzy metric space, and this fuzzy metric  $M$  induced by  $d$  is called the standard fuzzy metric [1].

**Definition 2.4.** [6] A sequence  $\{x_n\}$  in a fuzzy metric space  $(X, M, *)$  is said to be convergent to a point  $x \in X$ , if  $\lim_{n \rightarrow \infty} M(x_n, x, t) = 1$  for all  $t > 0$ .

Further, the sequence  $\{x_n\}$  is said to be Cauchy if

$$\lim_{n \rightarrow \infty} M(x_n, x_{n+p}, t) = 1 \text{ for all } t > 0 \text{ and } p > 0.$$

The space  $(X, M, *)$  is said to be complete if every Cauchy sequence in  $X$  is convergent in  $X$ .

**Lemma 2.5.** [5] Let  $(X, M, *)$  be a fuzzy metric space. Then  $M$  is non-decreasing for all  $x, y \in X$ .

**Lemma 2.6.** [6] Let  $(X, M, *)$  be a fuzzy metric space. Then  $M$  is a continuous function on  $X \times X \times (0, \infty)$ .

Throughout this paper  $(X, M, *)$  will denote the fuzzy metric space with the following condition:

$$(FM-6) \quad \lim_{n \rightarrow \infty} M(x, y, t) = 1 \text{ for all } x, y \in X \text{ and } t > 0.$$

**Definition 2.7.** [7] Two mappings  $f$  and  $g$  of a fuzzy metric space  $(X, M, *)$  into itself are

$$M(fgx, gfx, t) \geq M(fx, gx, t) \text{ for each } x \text{ in } X.$$

said to be weakly commuting if

**Definition 2.8.** [8] Two mappings  $f$  and  $g$  of a fuzzy metric space  $(X, M, *)$  into

itself are said to be  $R$ -weakly commuting if

$$M(fgx, gfx, t) \geq M\left(fx, gx, \frac{t}{R}\right) \text{ for all } x \text{ in } X$$

**Remark:**  $R$ -weakly commutativity implies weak commutativity only when  $R \leq 1$ .

**Definition 2.9.** [9] Let  $f$  and  $g$  be self-mappings on a fuzzy metric space  $(X, M, *)$ . The pair  $(f, g)$  is said to be compatible if

$$\lim_{n \rightarrow \infty} M(fgx_n, gfx_n, t) = 1 \text{ for all } t > 0,$$

whenever  $\{x_n\}$  is a sequence in  $X$  such that  $\lim_{n \rightarrow \infty} fx_n = \lim_{n \rightarrow \infty} gx_n = z$  for some  $z \in X$ .

**Definition 2.10.** [11] Let  $f$  and  $g$  be self-mappings on a fuzzy metric space  $(X, M, *)$ . Then the mappings are said to be weakly compatible if they commute at their coincidence point,

that is,  $fx = gx$  implies  $fgx = gfx$ .

It is known that a pair of  $(f, g)$  compatible maps is weakly compatible but converse is not true in general.

**Definition 2.11.** [10] A pair  $(A, B)$  of self maps of a fuzzy metric space  $(X, M, *)$  is said to be semi-compatible if  $\lim_{n \rightarrow \infty} ABx_n = \lim_{n \rightarrow \infty} Bx_n = x$ , whenever  $\{x_n\}$  is a sequence in  $X$  such that

$$\lim_{n \rightarrow \infty} Ax_n = \lim_{n \rightarrow \infty} Bx_n = x.$$

It follows that if  $(A, B)$  is semi-compatible and  $Ax = Bx$  then  $ABx = BAx$  that means every semi-compatible pair of self-maps is weak compatible but the converse is not true in general.

In 2012, Sharma et al. [8] proved the following result:

**Theorem 2.12.** Let  $f, g$  and  $h$  be three self-mappings on a fuzzy metric space  $(X, M, *)$  satisfying following (2.11.1) & (2.11.2) conditions. Suppose that  $h$  is continuous and pairs  $(f, h)$  &  $(g, h)$  are R-weakly commuting on  $X$ . Then  $f, g$  and  $h$  have a unique common fixed point in  $X$ .

$$(2.12.1) \quad f(X) \cap g(X) \subset h(X).$$

$$(2.12.2) \quad M(fx, gy, t) \geq r\{M(hx, hy, t)\} \text{ for all } x, y \text{ in } X.$$

Where  $r : [0, 1] \rightarrow [0, 1]$  is a continuous function such that  $r(t) > t$  for each  $0 < t < 1$ .

### 3. MAIN RESULT

Our result generalizes the results of Sharma et.al.[8] as we are using the concept of weak compatibility, which are lighter conditions than R-weakly commuting, compatibility and semi compatibility. We are proving the result for four self-mappings in a fuzzy metric space such that only one weak compatible pair is sufficient.

**Theorem 3.1:** Let  $(X, M, *)$  be a complete fuzzy metric space and let  $P, Q, A, B$  be mappings from  $X$  into itself such that the following conditions are satisfied

$$(3.1.1) \quad P(X) \cap Q(X) \subset AB(X),$$

$$(3.1.2) \quad (P, AB) \text{ or } (Q, AB) \text{ is weak-compatible,}$$

$$(3.1.3) \quad AB = BA, PB = BP.$$

$$(3.1.4) \quad \text{For every } x, y \text{ in } X \text{ and } t > 0,$$

$$M(Px, Qy, t) \geq rM(ABx, AB y, t)$$

Where  $r : [0, 1] \rightarrow [0, 1]$  is a continuous function such that  $r(t) > t$

for each  $0 < t < 1$ .

Then  $P, Q, A$  and  $B$  have a unique common fixed point in  $X$ .

**Proof.** Let  $x$  be an arbitrary point in  $X$ .

According to (3.1.1), there exist some points  $x_2 \in X$

such that

$$Px_0 = ABx_1 = y_0 \text{ and } Qx_1 = ABx_2 = y_1.$$

We can construct sequences  $\{x_n\}$  and  $\{y_n\}$  in  $X$  such that

$$y_{2n} = Px_{2n} = ABx_{2n+1} \text{ and } y_{2n+1} = Qx_{2n+1} = ABx_{2n+2} \text{ for } n=0, 1, 2, \dots$$

Now, we first show that  $\{y_n\}$  is a Cauchy

sequence in X.

Using condition (3.1.4)

$$M(y_{2n+1}, y_{2n}, t) = M(Px_{2n}, Qx_{2n+1}, t)$$

$$M(y_{2n+1}, y_{2n}, t) \geq rM(ABx_{2n}, ABx_{2n+1}, t),$$

$$\geq rM(y_{2n-1}, y_{2n}, t)$$

$$M(y_{2n+1}, y_{2n}, t) \geq M(y_{2n-1}, y_{2n}, t) \dots (i)$$

$$\text{Similarly } M(y_{2n+2}, y_{2n+1}, t) \geq M(y_{2n}, y_{2n+1}, t) \dots (ii)$$

From (i) and (ii)

Therefore  $\{M(y_{n+1}, y_n, t)\}$  is an increasing sequence of positive real numbers in  $[0, 1]$  and

tends to limit  $l \leq 1$ . Now we prove that  $l = 1$ .

Let us suppose that  $l < 1$  then,  $M(y_{n+1}, y_n, t) \geq rM(y_n, y_{n-1}, t)$ .

On taking  $n$  we get

$$\lim_{n \rightarrow \infty} M(y_{n+1}, y_n, t) \geq r \lim_{n \rightarrow \infty} M(y_n, y_{n-1}, t).$$

Now for any positive integer  $p$ ,

$$M(y_n, y_{n+p}, t) \geq M(y_n, y_{n+1}, t/p) * M(y_{n+1}, y_{n+2}, t/p) * \dots * M(y_{n+p-1}, y_{n+p}, t/p).$$

Hence, the subsequences  $\{Px_{2n}\}$ ,  $\{Qx_{2n+1}\}$ ,  $\{AB\}$  and  $\{AB(x_{2n+2})\}$  also converge to  $z$ .

$$\lim_{n \rightarrow \infty} Px_{2n} = \lim_{n \rightarrow \infty} Qx_{2n+1} = \lim_{n \rightarrow \infty} ABx_{2n+1} = \lim_{n \rightarrow \infty} ABx_{2n+2} = z.$$

Case (1) When  $(P, AB)$  is weak compatible mappings,

$$\lim_{n \rightarrow \infty} Px_{2n} = z \text{ and } \lim_{n \rightarrow \infty} ABx_{2n+1} = z,$$

Then there exist  $u \in X$  such that  $ABu = z$ .

Step (I) Putting  $x = u$  and  $y = x_{2n+1}$  in condition [3.1.4]

$$M(Pu, Qx_{2n+1}, t) \geq rM(ABu, ABx_{2n+1}, t)$$

$$M(Pu, Qx_{2n+1}, t) \geq rM(z, ABx_{2n+1}, t)$$

Let  $n$  and using above result we get

$$M(Pu, z, t) \geq rM(z, z, t) > M(z, z, t)$$

$$M(Pu, z, t) \rightarrow 1 \text{ as } n \rightarrow \infty$$

$$Pu = z$$

---


$$Pu = ABu = z.$$

© Association of Academic Researchers and Faculties (AARF)

A Monthly Double-Blind Peer Reviewed Refereed Open Access International e-Journal - Included in the International Serial Directories.

This result so that 'u' is coincident point of X such that  $PU = ABu =$

$PU = ABu = z$  and  $(P, AB)$  weak compatible mappings

$$PABu = ABPu.$$

$$ABu = z \rightarrow PABu = Pz.$$

$$Pu = z \rightarrow ABPu = ABz$$

$$Pz = ABz. \dots\dots(iii)$$

Putting  $x = z$  and  $y = x_{2n+1}$  in [3.1.4]

$$M(Pz, Qx_{2n+1}, t) \geq rM(ABz, ABx_{2n+1}, t)$$

$$M(Pz, Qx_{2n+1}, t) \geq rM(Pz, ABx_{2n+1}, t)$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(Pz, z, t) \geq rM(Pz, z, t).$$

$\Rightarrow M(Pz, z, t) > M(Pz, z, t)$  which is contradiction

Hence,  $Pz = z$ .

Using (iii) we get  $ABz = Pz = z. \dots(iv)$

Now again putting  $x = x_{2n}$  and  $y = z$  in [3.1.4]

$$M(Px_{2n}, Qz, t) \geq rM(ABx_{2n}, ABz, t)$$

$$M(Px_{2n}, Qz, t) \geq rM(ABx_{2n}, z, t)$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(z, Qz, t) \geq rM(z, z, t)$$

$$> M(z, z, t)$$

$$Qz = z. \dots(v)$$

$$Pz = Qz = z = ABz \text{ since (iii), (iv) and (v)}$$

**Case (2).** When  $(Q, AB)$  is weak compatible mappings,

$\lim_{n \rightarrow \infty} Qx_{2n+1} = z$  and  $\lim_{n \rightarrow \infty} ABx_{2n} = z$ , Then there exist  $v \in X$  such that  $ABv = z$ .

Putting  $x = x_{2n}$  and  $y = v$  in condition [3.1.4]

$$M(Px_{2n}, Qv, t) \geq rM(ABx_{2n}, ABv, t)$$

$$M(Px_{2n}, Qv, t) \geq rM(ABx_{2n}, z, t)$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(z, Qv, t) \geq rM(z, z, t)$$

$$M(z, Qv, t) \geq r(1)$$

$$Qv = z$$

$$Qv = ABv = z.$$

' $v$ ' is a coincident point of  $X$  such that  $Qv = ABv = z$

Now,  $Qv = ABv = z$  and  $(Q, AB)$  weak compatible mappings.

$$QABv = ABQv$$

$$ABv = z \rightarrow QABv = Qz.$$

$$Qv = z \rightarrow ABQv = ABz$$

$$Qz = ABz \dots \dots \dots (vi)$$

Now again putting  $x = x_{2n}$  and  $y = z$  in [3.1.4]

$$M(Px_{2n}, Qz, t) \geq rM(ABx_{2n}, ABz, t)$$

$$M(Px_{2n}, Qz, t) \geq rM(ABx_{2n}, Qz, t), \text{ since (vi)}$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(z, Qz, t) \geq rM(z, Qz, t)$$

$M(z, Qz, t) > M(z, Qz, t)$ , which is contradiction

Hence  $Qz = z$ .

$$Qz = ABz = z.$$

Putting  $x = z$  and  $y = x_{2n+1}$  in [3.1.4]

$$M(Pz, Qx_{2n+1}, t) \geq rM(ABz, ABx_{2n+1}, t)$$

$$M(Pz, Qx_{2n+1}, t) \geq rM(z, ABx_{2n+1}, t).$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(Pz, z, t) \geq rM(z, z, t)$$

$$\Rightarrow M(Pz, z, t) > r(1), \text{ which is contradiction}$$

Hence,  $Pz = z$ .  $Pz = Qz = z = ABz$

Now, according to case (1) and case (2) we get  $Pz = Qz = z = ABz, \dots$  (vii)

Putting  $x = z$  and  $y = x_{2n+1}$  in

$$M(PBz, Qx_{2n+1}, t) \geq rM(AB(Bz), ABx_{2n+1}, t) \quad [3.1.4]$$

$$M(BPz, Qx_{2n+1}, t) \geq rM(BABz, ABx_{2n+1}, t), \text{ since (3.1.3)}$$

$$M(Bz, Qx_{2n+1}, t) \geq rM(Bz, ABx_{2n+1}, t), \text{ Since (vii)}$$

Letting  $n \rightarrow \infty$  and using above result we get

$$M(Bz, z, t) \geq rM(Bz, z, t).$$

$$Bz = z$$

$$Bz = z \text{ and } ABz = z$$

$$Az = z$$

Thus,  $Pz = Qz = Az = Bz = z$ .

'z' is a common fixed point of mapping  $P, Q, A$  and  $B$ .

Uniqueness:

Let 'w' be another common fixed point of  $P, Q, A$  and  $B$ .

$$\text{Then } Pz = Qz = Az = Bz = z \text{ and } Pw = Qw = Aw = Bw = w.$$

Putting  $x = z$  and  $y = w$  in [3.1.4]

$$M(Pz, Qw, t) \geq rM(ABz, ABw, t)$$

$$M(z, w, t) \geq rM(Az, Aw, t)$$

$$M(z, w, t) \geq rM(z, w, t)$$

$$z = w.$$



Therefore 'z' is unique common fixed point of  $P, Q, A$  and  $X$  mappings of .

**Remark 3.2.** If we take  $B = I$  (identity mapping) in theorem 3.1 then the condition (3.1.3) is satisfied trivially and we get the following result.

**Corollary 3.3:** Let  $P, Q$  and  $A$  be self-mappings of complete fuzzy metric space  $(X, M, *)$ . Suppose that the following conditions are satisfied:

$$(3.1.1) \quad P(X) \cap Q(X) \subset A(X),$$

$$(3.1.2) \quad \text{Pair } (P, A) \text{ or } (Q, A) \text{ is}$$

weak compatible, (3.1.3)

For every  $x, y$  in  $X$  and  $t > 0$ ,

$$M(Px, Qy, t) \geq rM(Ax, Ay, t).$$

Where  $r: [0, 1] \rightarrow [0, 1]$  is a continuous function such that  $r(t) > t$  for each  $0 < t < 1$ .

Then  $P, Q$  and  $A$  have a unique common fixed point in  $X$ .

**Example 3.4:** Let  $X = [0, 3]$  and  $(X, d)$  be a metric space where metric  $d(x, y) = |x - y|$ .

Define  $a * b = a \cdot b$   $a, b \in [0, 1]$  and  $M$  fuzzy set on  $X^2 \times (0, \infty)$  such that

$$M(x, y, t) = \frac{|x - y|}{t + |x - y|}$$

We take three functions  $f, g, h: [0, 3] \rightarrow [0, 3]$  define as follow:

$$f(x) = \begin{cases} x & x \in [0, 1) \\ 3 & x \in [1, 3] \end{cases}, g(x) = 3 \text{ for all } x \in [0, 3] \quad \text{and} \quad h(x) = \begin{cases} 3 - x & x \in [0, 1) \\ 3 & x \in [1, 3] \end{cases}$$

Then  $f(X) = [0, 1) \cup \{3\}, g(X) = \{3\}$  and  $h(X) = (2, 3]$ .

Therefore,  $f(X) \cap g(X) \subseteq h(X)$

When  $x \in [0, 1]$   $f(x) = x$  and  $h(x) = 3 - x$

$fh(x) = f(3 - x) = 3$  and  $hf(x) = h(x) = 3 - x$ .

$$M(fh(x), hf(x), t) = \frac{|x - (3 - x)|}{t + |x - (3 - x)|} = \frac{|2x - 3|}{t + |2x - 3|}$$

$$M(fh(x), hf(x), t) = \frac{|3 - (3 - x)|}{t + |3 - (3 - x)|} = \frac{|x|}{t + |x|}$$

When putting  $x = \frac{1}{2} \in [0, 1]$

$$M\left(f\left(\frac{1}{2}\right), h\left(\frac{1}{2}\right), t\right) = \frac{2}{t + 2}$$

$$M\left(f\left(\frac{1}{2}\right), h\left(\frac{1}{2}\right), \frac{t}{2}\right) = \frac{2}{(t/2) + 2} = \frac{4}{t + 4}$$

And

$$M\left(fh\left(\frac{1}{2}\right), hf\left(\frac{1}{2}\right), t\right) = \frac{1/2}{t + 1/2} = \frac{1}{2t + 1}$$

Hence, we get  $M\left(f\left(\frac{1}{2}\right), h\left(\frac{1}{2}\right), \frac{t}{2}\right) > M(fh(1/2), hf(1/2), t)$ .

So that  $M(fh(x), hf(x), t/2) > M(fx, hx, t)$  is not satisfied for all  $x \in [0, 1]$ .

Hence,  $(f, h)$  is not R-Weakly commuting mapping but  $(f, h)$  is

weak compatible mapping. Because  $f(x) = h(x)$  when  $x \in [1, 3]$

Then there exist a coincident point in  $[0, 3]$  such that  $fh(x) = hf(x)$  when  $x \in [1, 3]$

$(f, h)$  is commuting at coincident points.

Similarly  $(g, h)$  is also weak compatible  $g(x) = h(x)$  when  $x \in [1, 3]$

$$g(x) = h(x) \Rightarrow gh(x) = hg(x) \text{ when } x \in [1, 3]$$

$$g(3) = h(3) = 3 \Rightarrow gh(3) = hg(3)$$

Then exist a common unique fixed point 3 in X such that  $f(3) = g(3) = h(3) = 3$ .

Remark:

Example (3.3) shows that  $(f, h)$  is not R-Weakly commuting mapping but there exist a unique common due to the weak compatibility. Every R-Weakly commuting mapping is weak compatible but converse is not true.

## CONCLUSION

This paper is generalization of the result of Sharma et.al. [8] in the sense of replace R-Weakly commuting to weakly compatible (owc) to prove a theorem on common fixed point theorems for four self mappings in complete fuzzy metric space.

## REFERENCES

- [1] George A, Veeramani, P. On some results in Fuzzy metric spaces. *Fuzzy Sets and Systems* 1994; 64: 395- 399.
- [2] Jungck G. Common fixed points for non continuous non self maps on non metric spaces. *Far East J. Math. Sci.* 1996; 4:199-215.
- [3] Jungck G. Compatible mappings and common fixed points. *Int. J. Math. Math. Sci.* 1986; 9(4):771-779.
- [4] Kramosil I, Michalek J. Fuzzy metric and statistical metric spaces. *Kybernetika* 1975; 11:336-344.
- [5] Grebiec M. Fixed points in fuzzy metric spaces, *Fuzzy Sets and System* 1988; 27:385-389.
- [6] Mishra SN, Sharma SN, Singh SL. Common fixed point of maps in fuzzy metric spaces. *Internat. J. Math. Sci.* 1994; 17:253-258.
- [7] Vasuki R. Common fixed points for R-weakly commuting maps in fuzzy metric space. *Indian J. Pure Appl. Math.* 30 (1999),419-423.
- [8] Sharma AK, Gupta B, Sharma A. *Int. J. Contemp. Math. Sciences* 2012; 7(31):1509–1518.
- [9] Singh B, Chouhan MS. Common fixed points of compatible maps in fuzzy metric spaces. *Fuzzy Sets and Systems* 2000; 115:471-475.
- [10] Singh B, Jain S. Semi-compatible and fixed point theorems in fuzzy metric space. *Chungcheong Math. Soc.*, 2005; 18:1–22.
- [11] Bansal KK, Sharma MK. A Comparative Study of Reliability Analysis of a Non-Series Parallel Network. *International Journal of Education and Science Research Review* 2015;2(6).
- [12] Sharma MK, Bansal KK. Fuzzy Analysis Of Shortest Job First. *International Journal of Engineering Research & Management Technology* 2015;2(3).
- [13] Sharma MK, Bansal KK.. A Comparative Study of Reliability Analysis of a Non-Series Parallel Network. *International Journal of Education and Science Research Review* 2015;2(6).
- [14] Singh B, Jain S, Jain S. Generalized theorems on Fuzzy metric spaces, *Southeast Asian Bulletin of Mathematics* 2007; 31:963-978.
- [15] Zadeh L. A., *Fuzzy sets, Inform. and control* 1965; 8:338-353.